3 ACGE

1. LrflQeaell Genmedletuy mem gemenilles e lysusdles FleansGousoenig

ff\] 2gh : B) gh

2
C) l/: D) »1:.
gh .\[gh
According to Torricelli's theorem, the velocity of a liquid through an orifice is
equal 1o
A) 2gh B) gh
V2

D) -
gh Jah

2. 300 K wupmd 900 K Gaiulmessile Qeuduin eriCearr apdirsgdlea uweil @

e

A) 25% 3) 50%

C} 333% D} 667%.

The efficiency of Carnot engine working between the temperatures 300 K and
900 K is

A) 25% B) 50%

C) 33:3% D) 66-7%.

3.  e© dawrppldldr o erassdle LUSTURESUUED QUTEHSNET BHETEND ..
@lm&Hes GeussorHib.
Al sdls erbe sLsaddneg. oifle enbasdareal @iy
B)  <ifle amhs sL5H5ISEIDET. @apeaurar srbse Tt Gply
C) ©oDbs THS SLEHHSHDET, @D Hrihea el G)piy
D}  @@oDbhe s1hs HLSHHSEDD . Hls srpssmieat Guoy.
The material used as a core of a transformer must have

) high permeability, high hysteresis loss

B) high permeability, low hysteresis loss
C) low permeability, low hysteresis loss
D) low permeability, high hysteresis loss.

4. 2008 b gyevoigedr, Go. Gyt promuesIT allHE LTHEHE phEGLULL S ?

‘/’,{; L& &, brgeuest Hrwh B) LTHLT eviley sCami s

C)  LréLi g. Gs. @LusT D) LrsLi Garailhset algwrmaeuet.
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ACGE 4

In‘zy& K. R. Narayanan award was given to

A) Dr. G. Madhavan Nair B) Dr. Anil Kakodkar

C) Dr. A. K. Gupta D) Dr. Govindan Vijayaraghavan. )
5. 1926 0 geuge wae o @Quee QuIksT TTEbHl Spasi  pbHaTTE

eug eLeWSHSULILH Cargeane Glelg uTTSHLULL &) 7

A alléddlun Ganesl B) grufl ard®s

C)  Lmb GLeu D) grudl srlomm.

In 1926 the first liquid fuel rocket was tested by

A) Willlam Henry B) Robert Hook

C} Tom Tetler D} Robert Goddard.

6.  om eesLrTeEr shanow 200 V Qeran® wpwhed ol Lrd, e e drraGe

2460 QG BTTD

A)  0868A B) 868A

C) 868A D) 868A.

The de Broglie wavelength of a beam of electrons accelerated by 200 V is
Al 0868A B) 8684

C) 868A D) 868 A

7. Spssamiauphe eg eflures QurdGssiul HeTeng

A) BTGS2 6mey e & Quoeemll erhmib

B DMG — umedliy flEge LeuLy

C)  oCsrudefen — Glanpédlaeiy &iye
D) Q10660 ebT —_— Gubens guLIT.

* nd the correct match among the following :

A) Sugar industry — sulphitation

B) DMG — polyurethane polymer .
C) [soprene — chelating agent

D) Teflon — natural rubber.

8. eanlymer Wlepenarniayenw el Wlemnpene Sypssn
A)  ygsblub Geurél B) 2 Geuréul
C) 0-3 GeurduL. . D} 16 GeureiL.
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The electrode potential of standard hydrogen electrode is

Ve

C)

zero volt B) 2 volt

0-3 volt D) 16 volt.

ssemen(® 2 Ceors srgalellimbhe QuUEPLLED WeHunTe 2 Geomab

A)

C)

UTsren B}  &mioy

Qsueistl D) &rfwb.

The important metal that is obtained from oxide ores, is

A)

C)

A)
B}
C)

D)

Mercury 3) Iron

Silver D) Lead.

Sparambd Lligels sfluray sriursdleds ofiemsmeflen .::‘Z){LIS]G\) cuflema erg) 7

sourmible sublevn > & gs opfleud > yCprulluneis oufteud
<@ gé gpbien > Crrituredle subleid > soummbls sybled
coumiiblé opbled > uBgriiiureis oubled > o & subleun

28196 eedlld > soummifle oubleud > UGyriSureis eyfleud.

In the given list of carboxylic acid, identify the correct order of acidity :

¥ A

B}
C)

D}

A}
B)
)

D)

Formic acid > Acetic acid > Propionic acid
Acetic acid > Propionic acid > Formic acid
Formic acid > Propionic acid > Acetic acid

Acetic acid > Formic acid > Propionic acid.

GLwmhpb ereoim Hlaps Sl men Gunieug

podose;  opn  @CrrGorGsrbaeie GGyTCLTGemwd gL hesefler
ufirhob

odlae e 2_giTenm &CrTCurGambs @hédlanGw GCyrCurGamne
gesst_msefla Uflomboo

Sheshss Oeasdlan  GRMBurGsrbagpeadleaCu  GGyTGnrGemoe
setoL_wseilesr uflomhnhd

greuy wHmis elekg Oeds@ddla_Cu @Crmlurleamne g kel 6
uflrbhp.
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ACGE 6

Translocation is a process in which
F

/A) exchange of chromosomal segments between non-homologous
chromosomes occurs '
B) exchange of chromosomal segments between homologous chromosomes
oceurs

12.

13.

14.

C) exchange of chromosomal segments between chromosomes of adjacent
cells occurs

D)  exchange of chromosomal segments between plant cell and animal cell

occurs.

& IHsmeN Ul sresotluEDn 2en’ L &dleallesr Quuwr

A)  dlyQseesn B) ikt
C) Qe @ws D)  yebTeyaven.
The n_utritive tissue present in the anther is called

A) Nucellus J/B) Tapetum
C) Integument D} Annulus.

Nedteum euestaupbles eTaudbl Jrest SLdhsemer HHULEG 6T ?

A} Yy Cyremwélen B) 64 Cemeondlest

C) GCulerGerl. D)  engwens(y.

Which of the following can serve as an inhibitor of electron transport ?
A) Puromycin | B)  Actinomycin

C) Malonate D) Cyanide,

@eupiles erg sfluresr auflenelien oyemwbaicieng ?

. @@Hbubd
n. Guiflerid
M. geom
v, Aifley.
@)euhmyen :

A) IV, 111, 1, 11 B) I 1V, III, 11

C) IV, 1L, 11, 1 D) v, I, III, I1.



15.

16.

7
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Which of the following arrangements is in the correct sequence ?

L. Farnily
il Genus
Iil. Order

IV.  Division.
i these
A) v, I, 1. I
C) v, III, 11, 1
Qaaele ‘Fner afReer aarliLfueansu
A) soy G Camibaen
C) UBR&HEO SRS
‘Powerhouses’ of the cell are
A) Ribosomes
) Chloroplasts
HPSHHEOIL. CUTHEIURGHTEH Heue -

gafbmy (Al © s Oletoieostsr
Glewsllpadlng).

[ IV, IH, 11
v, 1, 01, 11

iy & eflwieh & 6fr

enwl_ B aretort_flum&aer.

Nuclei

Mitochondria.

"
selmuw  pedw Spe  (pleol e

sryed (R) : oo gevgd grewo(b antiGureflen ( FSH ) apusdl dlem

al[Heugmey.

FCp @O Gerer @O g sfiurer allaLews Corpols®

A} (A) wpnd (R) @geo G &)
B)  (A)edl, syenmév (R} geuny
C) (A) wbmyb (R} @7etorHid Heumy

D) (A whns (R) @gesor@o adl, Cueub (R) erevrug (A) ellibe afluren ellenéawnee.

Consider the following statements :

Assertion (A} : In a woman after hysterectomy the ovarian cycle is stopped.

Reason (R) : Because FSH is not secreted.

‘//A} Both (A) and {R) are true

B) (A} is true, but (R} is false
C) Both (A} and (R) are false

ANow select your answer according to the coding scheme given below :

D) Both (A) and (R} are true, but (R} is not the correct explanation of {A).
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ACGE 8

17. waflg Qeusda @ros &phdl ghudd efiure euflare :
A) gL glflub — aeg gliflub — eueg Qeussfledler — meorddn sweall —
mieorelie — meoyure Heny — @& Qe fldler — wamaioeh

B) eauevg glflud — @La giflub — cuews Gleuatml fldler — mevpuirea swel -
meoylrs — meoqure deor — GLg Geusilfléle — bemsisi

C)  eeg glflud - cwegy Gear fléer -» megura swal — meogdrd -
meopudyee fevy — @Qra gl flub — GLg Gleussi Mdler — wamgwoe

D) eog glflub — aeg Qs fda - meoqdre feog — meopdye —
mresyuiyey gwell — @Lgl glflun — @iLg Geusr MNdlenr — waTgwea.

The route of circulation in the human heart is

A) Left auricle — right auricle -» right ventricle -» pulmonary artery —

lungs — pulmonary veins -— left ventricle -~ aorta

B) Right auricle — left auricle — right ventricle — pulmonary artery —

lungs -— pulmonary veins — left ventricle — aorta

‘/C‘] Right auricle — right ventricle — pulmonary artery — lungs — pulmonary
veins — left auricle — left ventricle — aorta

D) Right auricle — right ventricle — pulmonary veins — lungs — pulmonary

artery — left auricle — left ventricle — aorta.

18. dlleflllen padlu e ag 2
A) By \//B/) QmLiTes
C) QuenGuearen Galiery,d D) Gaulled Qml Qeurié.

The structural unit of a kidney is
A) Neuron B} Nephron' :
<) Bowman's capsule D)  Capillary network.
19. OurGrren uGumrem_sui g’ eTeip Hremey erpdliweut wrr 2
./A) sub e leum B)  @evuwmiie
C) b Cs. arkdl D)  gnfieuen g&H&easen.
Whe wrote the book on ‘Tommorow's biodiversity’ ?
A) Vandana Shiva B)  Ismail

C) M. K. Gandhi D} Charles Dickens.



20.

21.

22.

23.

9 ' ACGE

a0 eydLDD alekgsalld 2 sier Qaniu G Cuedlflurey erbeg o wikhs aiGly
Opressillesr o mrfler Ceuenaany Qendng >
A)  sevalye B) dnmdysb
C)  seewiwb D) JdéslienL.
l-i(:patopancreas of invertebrates discharges the functions of which one of the
following in higher animals ? '

\ﬂ(\ Liver . B) Kidney
C) Pancreas D) Gall bladder.
G @Eoanersdlar  qnp  poeaillgdlér  Bed 70 GleuS Cogud  ybs
eowel Lwraorg  wip  @e e sfleadipha 27 Qs Genesss
Giareneailapeiang. SULIGUTETTR b @\@enralddlar uriy (sgT G818 ) &
A) 1800 B) 1836
C) 1890 D) 1980.
One diagonal of a parallelogram is 70 ¢cm and the perpendicular distance of this
diagonal from either of the outlying vertices is 27 cm. The area of the
parallelogram ( in sq. cm ) is
A) 1800 B) 1836
™ - 1890 D)  1980.

‘@@ Guenmast LoD 4 prperelscia alae . 1600, @ Goeogy whHob
6 prbsTellsaiian allemewyd epumi 1600 aailas 9 prperelseila alases ereiren
A} e, 1800 B) . 1600
C) . 1000 D}  semUllgsHss Glueord.
The cost of 2 tables and 4 chairs is Rs. 1600, while 1 table and 6 chairs cost the
same. The cost of 9 chairs is

W) Rs. 1800 B) Rs. 1600
C) Rs. 1000 D} Cannot be determined.
PO Uosaey @6 &bugms 20 alamgsefleud, 120 B pemomen

meot_CuenLsow 30 alpmig seflaud &L &dlng aeflé Lemsmouatigller Bend ercieusrey ?
A) 1308 B) 2400

C) 140 & D) 12048,

" [ Turn over



ACGE 10

24,

25.

26.

A train crosses a pole in 20 seconds. while it crosses 120 m long platform in
30 seconds. The length of the train is

A) 130m \Efﬂzr;om

C) 140 m oDy 120 m.
CISC erstiigy

A)  sbiyl i @emaulghenet el smbolumesrertev

B)  a&beue( Gereulgseaveten Gl&l. umm &bl L mey
C) STblIemé&eny @) e el yhavesren Glel. &byl L
D) erbleréen @) eurheve Glal. smibolum e e sv.

CISC stands for
A) Computer Instruction Set Components
B) Compiled Instructions Set for Computers
er ) Complex Instruction Set Computer
D) Complex Instruction Set Components.
& Elaveeny alurury Geamaseol geibeurd Gaeaauyb ¢h. 125 && euti@dng.
seuGlourm Cemasend 10 ssalidlah g arhsiu’ L ooyl sal.Qdng.
Gei1 10 sgalidlad seiepugllss alpdlansg. aalle  aCarmn Gomese
FleoL. &@ D sumrub/BLLID erestesT 7
A) LD . 1-25 B} UL s 125 "o
C)  arubep. 125 D) mliLbem. 12-5.

A retail Saree shop purchases each saree for Rs. 125. It adds 10% to the original
price for each saree. Later it gives 10% discount for each saree. What is the
gain/loss for each saree ?

A)  Gain Rs. 125 "\ Loss Re. 125

C) Gain Rs. 125 D) Loss Rs. 12-5.

@18 6116UB EUEDTULD .ovovrveeeene. Qsifley Gleiw LwesTuREIDE. -
A)  sefle aleund B)  oeoaGleust Liyeud

¢y uCsren eygluemcwret allugd D}  sreicert Qari_teuflans alurb.

A histogram is used to depict a
A) sample data Wfrequency distribution

C)  geographical data D) time series data.



27.

28.

29.

11 ACGE

A, Bupnid C s H0smnfle Qeudlanent. Gurgs qpseil ueé A 61 LkE apeile-
pepTE@D. A whpd C Geibg Qaiyd wseSLeaalles B ueelh Gawdlammt.
S (pgalies, Gleomun eh. 840 ETeTDTE. SfeultSef gpelGleuTheuHbD Qumyb UkiE
GTeleUeTEY 7

A) A=¢n. 280, B=¢5. 420. C=¢m. 140

B) A=ep 270.Bas. 410, C = 5. 160

C)  A=cp. 290.B = 5. 420, C = 5. 130

D) A= 240, B =¢p. 400, C = ¢e5. 200.

A, B and C enter into partnership. A contributes one-third of the capital while

B contributes as much as A and C together contribute. If the profit atl the end of
the year amounts to Rs. 840, what would each receive ?

W™ A =Rs 280 B=Rs 420, C = Rs. 140

B) A=Rs. 270, B =Rs. 410. C =Rs. 160

C) A=Rs. 290, B =Rs. 420, C = Rs. 130

H

D) A =Rs. 240, B = Rs. 400, C = Rs. 200.

G OIS L Crrsdlé Hispssiu@b S bairarg

A)  dettiLemey gyley B)  guyen i
C) @eoLwmliny ey D) euyeumhiy Syuey.
A study that takes place at a single point in time is
A) Longitudinal study B) Relational study
Cross-sectional study D) Historical study.
260 2
o X 6

@i x-e81 wHIL ereiTenT 2

A) 30 B) 36
C} 38 D) 230.
260 2
What is x in ?
X 6
m’ﬁ 30 B) 36
C) 38 D) 230.
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ACGE 12

30.

31,

(1} oo (2) %aﬂu_l @reo( sabnsenend Ogm_ihg 1, 1, 1H whmnd [V eer
6T GooT GO IUL L (BhTEdT(@) (g 64 el eupRIGUILL ([ 2 6eren . sabmys e OO RC:
e &pusment Glawgl, snpry 1 whnd 2 Slphe QUDSSES (pyaysamen SiorallbiGe.
SafDry 1 L S OTTHE USSHRGEHD WIREE.
Gy 2 L eI hgl BIESEHD Shskser.
(P ey en

I DD ST LUSSHHHEHD &k

1.  oasg Fushs@hb LhsHtser

.  oemaisg DIh&EHD LHsHmne el

V. Sl flashisel ybsatise.
Gleupgyer :
A} I wbrnd N1 Gunss&een B}  lopnbd IV Qupéssee
C)  Qeubmel agiapdlaane D} @l oEmensaib.

Following are two statements (1) and (2} folowed by four conclusions numbered
[ II. Il and IV. Assuming that the statements are true, decide which of the

opinions follow from Statement 1 & Statement 2 :
Statement 1 :  All books are trees
Statement 2 : All trees are lions.
Conclusions :
I. All books are lions
II. All lions are books
II.  All trees are books
IV. Some lions are books.

Of these

\!f),\ II and III follow B) [ and 1V follow

C) None of these Dy All of these.
Quenfluisementy ubE eybihe Claraiar o gayd Ble (padlunrer amesin)
A)  2Tes emevdlyD B) @engsm

C)  Bueubsid . D) Sydl



13 ACGE
The most important source of information regarding the Mauryan empire is

\K/ Arthashastra B) Indica

32.

33.

34.

35.

C) Deepavamsa D} Saiyuki.

yepGlubn shss HeGlUlH Bmeeh GLb

A)  SsgeiiemeuTady B)  wessLslul(

C) 2 &HyCuwepr D)  @Hllure weney.

The famous musical inscription is found at

A) Sittanavasal Mandagapattu

C) Uttiramerur MKudumiyanmalal
@pduraller erbsn Gurt Goraeruisalar oy 8ee SgseeTDh ADLESH 7
A)  Ulermdl Gurr 7 B} (e uresiu Gumt

Cl]  (p&e evw@i Gumd D} soaslasmlarn Gumd.
Which battie laid the foundation of the Mughal rule in India ?

A) Battle of Plassey wFirst Battle of Panipat
C) First Mysore War D)  Battle of Talikota.

seanevsGamiemL o Gurfléd Garhay Sl L aNDWhey 2yef Wit ?

A) GeumigmL(r B)  @umrmwr

Q)  ssméleuymui D) yés&smTwi.

The Vijayanagara ruler who was defeated from the Battle of Talikota is
A) Venkatar W Ramarayar

C) Sadhisvarayar D)  Achutharayar.

GorsEresrCrm bHnb anyuuT BTeTesdhamear &t Hulg &sear

A) A saiallhanmb | B) D.D.Gamrgnd

C) GI7 EDITEET LDITIT 61360 D) Lr&Lf B. B. eomev,
Mohenjodaro and Harappa civilization was discovered by

A) A. Cunningham B) D. D. Kosambi

1 Sir John Marshall D) Dr. B. B. Lal.

[ Turn over



ACGE 14

36. o 3 swbledll prafed @ésnasos enihss
A) LepW SHHMEuD B)  {@\mbL &reud
C) Qsuys sTeud D) yédlu sperab.
Iindus Valley civilization is considered as
A} Palaeolithic age B)  Iron age
- Copper age D) Neolithic age.

37 uwlgwée I g uigué I o Qurpsd, dCp Gar@ésiuul Herer GHibsamers
Qaren (@ #flurar allsmLaws Caib@sdH

uliqwes I uguwée II
a)  S&THbamme 1.  Geoum ey
b)  Garlerm GluGreu agr 2. egmgeren
c)  @RUTS eueb Gleveurd 3. QuBymev e
d)  yymemt @der 4.  @syde ousk.
@Blp e e
a b c d
A) 1 3 2 4 .
Bb 2 3 4 1
C) 3 2 1 4
D} 4 2 I 3.
Match List I with List II correctly and select your answer using the codes given
below
List I : List II
a)  Taj Mahal 1.  Sher Shah
b) Kotla Firuz Shah 2. Shah Jahan
c) Quwwat ul Islam 3. Firuz Shah
d) Purana Quila 4. -Qutb-ud-din Aibak.
Codes :
a b c d
A) 1 3 2 4
\/{3? 2 3 4 1
C) 3 2 1
D) 4 2 1



38.

39.

40.

41.

42.

15

" oubd) apholl &HETTT BTG WIHaL L &revhbler apslul g ?
A) FRE HITGD B)  ueeeli sreub
C)  Genypisst smmeb D)  uretigwisel &mevD.
‘Avanthi Sundari Kathasara' was written during the period of |
A) Sangam \Hﬁ Pallavas

) Cholas D)  Pandiyas.
suCretl ereotlLfeug s

Ay Gondlé B) (hlewenieyé debrenin
C)  cueotiiad @pdhasel D)  syyednwemen.
‘Sreni’ refers to

A) Temple B) Memorial

&\ Guild D) Palace.

@UGer &7 a1 U

A) g mdlGeuw seurtet B)  JQuehs seufe

C)  eoumedien sHeureori D)  @Gleuhmst ergiepbleieney.
Dupleix was a/an

A) English governor Wl-‘rench governor

C) Spanish governor D) None of these.

Westeumd Camy oypaiasila wfalpusemg Qeudipeur wri 2

A) (LPEGUTID LI IT I & 66 B)  (pgeurd @yyTenme et

C) waword GunGeandlye D)  pserh @yrerdlyra .

Who among the following Chola rulers conquered Sri Vijaya ?
A) Parantaka I B) Rajaraja I
M.Rajendra | D) Rajadhiraja 1.
el perGaihp SLPHD 2 (heuTeig ehs euhlD ?

A) 1947 B) 1948

C) 1949 D) 1950.

When did Dravida Munnetra Kazhagam come into existence ?

A) 1947 B) 1948
M1949 D} 1950.

30002
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ACGE 16

43.

44,

45,

46.

WMTTE) (PHeMLEET &dglevsiays Sl b sbprTge Qares [ eurtiul L g 2
A)  SySHDITEe]y B)  ep.gll.gyf
C)  grepreh D) seweuEht (1. HiheooTThHid .
Who introduced the Chief Minister Mid-day Meal Scheme in . .umil Nadu ?
A)  Annadurai W’ MGR
C) Rajaji D) Kalignar M. Karunanidhi.
QuoraghesmCrralda 2.6Ten QUEBHEGTSHG DI TS ST
A) 128 x7 8 x 318 Bl 208x7U8x38
C) 1200x7048 x3048 D) 128 x78 =606
The Great Bath, at Mohenjodaro’s built structure measures
uﬂ I12mx7mx3m B) 20mx7mx3m
C) (20 m x 70 m x 30 m D) I12mx7mx6m.
cogar g aIpéHlEE SDeUHD HTTEOTHSEEBST 65l (b HITEIDGME ?
A) sheowwurer §t Sl L ks B) g besdde gniL Serey
C) Qe besdear afpsd D) uweraifeelian siare) Gsena.
Which, among the following was not a cause for the decline of Jainism ?
) Hard principles B)  The division of Jainism
C} Fall of Hinduism D)  Absence of royal patronage.
NesTeumeustTeLDmIeT 678 CILTMISSOHDE 7
Ay dlyow sored | — grepmymin Guomses [
B)  <uflw swren — seumlh gwresihes &reveud
Cy  dyrigses swreb — seumdl eNGeusmemhsiT
D) Gzeu swrsmb — sslureinhg et Cargifl.
Which one of the following is incorrect ?
A) Brahmo Samaj — Raja Rammohan Roy
B)  Arya Samaj — Swami Dayanand Saraswati
w1 Prarthana Samaj — Swami Vivekananda
D) Dev Samaj _ — Satyanand Agnihotri.

30002
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48.

49.

17 ACGE

@b Caudiu aradlrilar pad CuTgs Clawemert wir 2

A UTeERSTET e B)  oyeen gu6CLelwet &b
C) o wlwdv andly Lresig)) D) srgrurl GnenGrmsh.
- The first General Secretary of the Indian National Congress was
A} Bal Gangadhar Tilak m:\ilan Octavian Hume
C) Womesh Chandra Banerjee 2] Dadabhai Naoroji.

B PH&HEIL. eunhdluisaens seud |

Garuimdy mrwS ereunT Slei(Nea60 5568 Bavaeiln sridleaT,

Babm) (A) L Qpestadipdlu saaddlar e LGHuTs

eIyt (R) %mﬂ@@m&@&@ 2_Se UGS,

Gy el Geter @i iyd sflurer aleamus GCarbbis® :

A) (A oDmo (R @ra@o ef), Cuaub (R) asrug (A) elibe sfurer oflerssb
B) (A} npoyd (R) @pesorGn sifl, Cueyid (R} statug) (A) el aflurer eferésiveves
C) (A ef, weme (R) seumy

D) (A) geun. oyemen (R) el

Constder the following statements :

Gopal Nayak headed Dindigul League.

Assertion (A) :  As a part of South Indian rebellion.

Reason (R) : To give support to British.

Now select your answer according to the coding scheme given below :

A}, Both (A) and (R} are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true. but (R) is not the correct explanation of (A}

\J/\ {A) is true. but [R) is false

D) {A} is false, but (R} is true.

1946 b S wipeoLw seeamolar &p sradyeay ald wpdifl somuaw
Olgeitenien LTHTET SHHID HENHHE 7

A) K. &rmogmey B) T. Jysren

C) @urersd D) Q. P.groganmd Gryligur.

In 1946, Congress Party formed a Ministry in Madras state under the leadership
of

A) K. Kamaraj W" T. Prakasam
C) Rajaji D} O. P. Ramaswami Reddiar.

[ Turn over



ACGE 18

50.  WTRiGY WHSETT GuHdlug

A} QpHneseuTen B}  ulgetlurene
C)  @lepdluur’ @ D) wgeogsTEhal.
Mangudi Marudhanar composed

A) Nedunalvaadai B) Pattinappalai
C)  Kurunjipattu \f | Maduraikanchi.

51. ulguéd I g ulguwée II 2t Qurepsdl, &Gy Cer@easiulBeier GHliGeamens
Qarein @ efiurer allLows CaipGs@

Ul igue I ulgwen II
a)  aigmor Braipsédl I.  Geapenr
b} Garss prialpsd 2. abppre
c)  eupésd Biralpsd 3. gfler
LA arLiurep ieSpsd 4. spr_ST.
GORssr :
a b c d
A) 4 l 2 3
B) 1 2 4 3
C) 4 3 1
D) 4 1 2.
Match List I with List II correctly and select your answer using the codes given
below :
List I List II
a) Duduma waterfall 1. Kerala .
b)  Gokak waterfall 2.  Tamil Nadu
c) Vazhachal waterfall 3. Orissa
d) Vattaparai waterfall 4. Karnataka.
Codes :
a b c d
A) 4 1 2 3
B) 1 2 4 3
¢ 2 4 3 1
Vo) 3 4 1 2.
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weneeurp whsetia §haldls suiuem e o aen orflonsame Guelphg &prs
( oo ) suflansew smevmGuly -

A) o8& Soysmer, NCamyme, mraTemhg, Cuareuwr
B)  B@esrgmd, e’ 86 Beuseir, praTeurhgl, Guarewr
C)  wmrererhg, Cuasrewr, el ss geysar, AGsTITD
D) BCasmymid, Bosrewr, el o Soysen, BTHTONHS.

[dentify the correct descending order of States with percentage of Scheduled
Tribe population :

mLakshadweep. Mizoram, Nagaland. Meghalaya

B) Mizoram. Lakshadwecp, Nagaland. Meghalaya
C) Nagaland, Meghalaya. Lakshadweep. Mizoram
D) Mizoram. Meghalaya, Lakshadweep. Nagaland.

sBPBETg 6 erhs wemes eumsevged 2250 S Gaamamenier sLe eralibg Guwers

2 _6Meng) ?
A) Q&ML H&TesTEw 13) 2_8,6 (DEDUIL_ 6D
C)  gpsr@ D)  gedlfl

Which hill station in Tamil Nadu is at the altitude of 2250 m above Chennai sea
level ?

A) Kodaikkanal \-ffﬂ‘ Ootacamund

C) Yercaud D)  Yelagiri.
s0pRTLGe 2001 oyb Syen() sem sl EUUlatug ureler alldlgn
A) 922 B) 086

C) 972 D) 920.

Sex ratio as per 2001 Census in Tamil Nadu is

Al 922 o Lss

C) 972 ‘D) 920.

sblprriigd gmlyl ugaset sraoiL@s @b

A) WTesaT (BT : B) Gul @

C)  sdsshEY D) Lménfwmygo.
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In Tamil Nadu copper deposits are found in

Mamandur 13)
C) Tuticorin D)
@ 7, 6Ga e evdla admemenumeus Gl
A) @D B)
C)  epsdimmb @)L ib D)
Indian Railways is the ................... largest in
A} first
C) third D}

Oeseupsueoubniet  spfam oHond  sblpHTL G
sreoa L (Qélestpen T 2 '

A)  GCarpg. ©lansg, euibumy . STOEUTE, §6uNTTT
B} Camgquwnr, udernieure, Gont, s, e
C)  WelUEToTL My, LeTlweT , WTmedl. auramm

D) Gamieum, euibUMLY, 6T6dors., expiTgunIT, 80T eur .

Mettur
Dalmiapuram.

| @ILdas eudledling 2
@f}@mLmﬁ]L_iD
It eI &TD @i b,

the world.

second

fourth.

ahs  (pHS  LPRIGIS

L u@en, sell&sr

- @esgeu

Which of the following main scheduled tribes are found in Orissa and Tamil

Nadu ?

w Khond. Gond. Lambadi. Juang. Savara. Badga. Kannikkar

I3}
)

Todia. Bakkarwal. Gujjar. Gaddi. Kinnar
Malapandaram, Paniyan, Yurali. Saha

D) Korva. Lambadi. Yendi. Saha. Jarawa.

Sereumeuesupmier aflural QurGEsIul L e &l

A)  Gangeow — 2_s6dly0 NgGeen
B}  &@mby = HIHILGHT

C)  HedsL e — Cayerm

D) Caulemen = @rﬂ&rr.

Which one of the following

Vi)

is correétly matched ?

Wheat — Uttar Pradesh
B) Sugarcane —_ Karnataka
C) Groundnut — Kerala
D) Tea | — Orissa.

‘[30002
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srGarenr s Semnbhgerer GO
A 3TIgs GLBHRISLO B) Sleoneiigd Gumhe
C)  uwalld QupksLe D)  @rdul ClmisL 6.
Sargasso sea is situated in
A) Arctic ocean "I-!‘Tﬁ* Atlantic ocean
C) Pacific ocean D)  Indian ocean.
Gshe GruileGe weitieuwb geuhsiul L Cad
A) 01.08. 1955 B) 14. 04. 1951
C) 14. 04. 1952 D) 05.11.1951.
The date of formation of Southern Railway Zone is
A) Ol. 08. 1955 W 14. 04. 19561
C) 14. 04. 1952 D) 05.11.1951.
SHENUULL @emearl CUmmBenTSTyD eresiug)

L. FMiy QummeTr gD

. sausdle Geers QU e sy

Il seuly @ur@ermgryo

V.  (wsarsfisgel Qurmenrsmyn.
@leubiyetr :
A)  Topmo I eflureiae B)  Tuwl@bd sflurers
C} I whmd IV eflureremey D)  @eubmst e giaybleveman.
Parallel economy is referred as

L. Black economy

II. Unaccounted economy

II. Mixed economy

IV.  Capitalist economy
Qf these

"fﬁ,\"l & 1l are correct B}  Talone is correct
C) I &IV are correct D)  None of these.
[ Turn over
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62.

63.

64.

65.

Sphmetoil.  mTETE  ellbre g;aﬁrfh&,aﬂ.ei) aeng,  Ourg  Biyeuesd Q8T kLTS
Qe nesong gpé&lmg 2
A} L urelhd efwrengend B}  Qanrgdle elbreangenid
C)  osTrunsd elnreigennd D)  Glukseahm elomesa,anib.
Which one of the following airports in India is the first to be owned by a Public
Limited Company ?
A) Dabolim Airport B) Cochin Airport
) Hyderabad Airport M Bangalore Airport.
sensry Srodl @ euraflusg e Q@mrysL wa
A} syyen eroUlLE Blipeussio B)  y.g
C)  alsnd D) wrhle suetils: Hlneueaid.
Health Insurance Business is associated with
A) LIC B) UTI
\/(ﬁ. GIC D) State Trading Corporation.
wHW 2 TSI LD 6ihs, uBLD SOPBTLIG6 Qe kel g 2
A) 1940 B) 1856
C) 1970 D) 1965.
In which year mid-day meal programme was started in Tamil Nadu ?
A) 1940 v 1956
C) 1970 D) 1965.
paalamilay wrdfllle saps QarPbermaseaia o Dubdl 2 uGur fléstulag

A)  gbowd

B) aerys Qamiberawsmst alfloluhss

C) &6l Qurmlsaer o pusdl Qe

D) oL durd Glur@lsemer 2 pubdl Cedw.

In the Mahalanobis model outputs of heavy industries are utilised for

A) exports ) expansion of heavy iﬁdustry

C) manufacturing wage goods D} producing luxury goods.

30002
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Nlaeyd B evwsead s eumilnhs LD a8 7
A) Ml 13} M2
C) M3 D) M4,

Which is the most liguid measure of money ?

‘-1{’\ M1 By M2

C) M3 D) M4,

selibul euhresals e elldsauu@n aurfl

A)  Gmrgps eurfl B)  wemps eurf)

C) Qsngsy eurfl D) edifws alldlsea.

Tax levied on personal income is '
\m/\mrect tax B) Indirect lax

C) Wealth tax D} Regressive tax.

@5 sme wrHn eurflud SEPHETLIGE ahs aumbD Blpeiu L g »

A) 1950 B} 1960

C) 1970 D) 1980.

In which year Slum Clearance Board was established in Tamil Nadu ?
A) 1950 B) 1960
' 1970 D)  1980.
Soedl Ul L erQameneeniy LIGTOTILN &8
A)  utps Gl eundllles ppevnra Qupeurnd
B)  uesoid GlasydHaILalt epeusirs GlumeuTid
Cl  gareug s eundllle cpeunrs Gupeurd
D)  @eubmer ergiapdleveney.
Cheque which is crossed can be encashed only
A) through SBI
through the payer

'Uf/\ through any bank

D) none of these,

ACGE

[ Turn over



ACGE 24

70.  wHULEH eull ereng griheeneas 2
A} o pusdl euf B)  eumwre eufl
C)  ereu@rr eud D) eleusTw sumbmes surfl.
The system of value added tax is applicable 1o
\lﬂ)"\ Excise duties B) Income tax
) Estate duty )  Taxes on agriculiure income.
71, #8p Qar@ssiul -Geren Blapamaer are cufloenug sfluramss CoibGaf :
L ydlu ugrsmudbg wop Sdlpsn
1. gurdesrpd) uGeTame
0. epdyrue S

V. glauded séa)l glual 2 flawnursd.

Gleubmie :
A) IL I X g [V Bl L IL IV wbmb 111
C) LU, Hlopgs IV D) L LIV wpmo 1.

Arrange the follovviné events in chronological order and choose the correct
choice from the options given below :

[. Introduction of new pattern of Panchayat Raj.
1. Rajiv Gandhi Assassination

III. Chandrayan Mission

IV. Primary education becomes Fundamental Right.

Of these
Vf}“ i1, 1, IIl and IV B) L II, IV and I
C) LI, W andIV D) L LIV and IL

72.  dphsemLeutseilen wir @haw merrdudurd ugaluler oigsiu@audleame 2

A)  Uyswo widf B)  giewas-mestn gl

C)  waeow HHud D) Galdel oemngsaer.
Who is not appointed by the President of India ?

A) Prime Minister 'Hﬂ Vice-President

C) Chief Justice D) Cabinet Ministers.
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sondéara (2008 ) Ghdlyrarsd ufls &paact_ Qmaumee sulgpléj&uur;t_@j.
A) (PHLIDG ETCOLIMTLY B) K. R. prgymucoses
C} 4By 68T - & &) D} . pueeuedl eujsgnseh
The Indira Gandhi Prize for Peace ( 2008 } was awarded to
\ﬂ”\ Mohammed Elbaradi B) K. R. Narayanan
C) Aung-San-Su-Ki D) Ragavan Varadharajan.
Guflurt E. V. grvemdl swollurers Quéssos orbllss 6@
A) 1924 B) 1925
C) 1826 D) 1937.
The self respect movement was started by Perivar EVR in
A} 1924 MA 1925
C) 1926 D) 1937.
@bl GHevavenn L. sucveybeany Bluwend GlFdueT
A) FLU L. SenE &I B)  Jysw oeowmser
C)  @hsu semean Bl D) @LE}.UJUHTI‘S') Hemevaur.
The Attorney General of India is appointed by the
A) Law Minister ’ B) Prime Minister
C) Chief Justice of India T)f’“ President.
2009 & wreGeGe allpa Ceussipeur wrt 7
A} emhoT datamT B) &l gukhaT
C)  &yalh Qesifleure D) U Goredl.
Who won Magasazsay Award in 2009 ?
A) Shanta Sinha B) V. Shanta
C) Arvind Kejriwal w Deep Joshi.
Ww&sGHe mrhesst, UTU HreT QDESS)
A)  sy®e 2009 B)  sp®ee 2009
C) - gymevl 2009 D) @eubme e meyblaensy.
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78.

79.

80.

Michael Jackson, King of Pop died in

\ﬁ(;\ June, 2009 B July, 2009
C)  August. 2009 D)  None of these.
o flet wésen paluaitare BalGuflu Bifeurs seurdser

A} w&saeroms CuEpesDd wpnn ComadldheTs Hamm Ll floa  »
B) F(PBTWE &8 51TeYeN

C) GriDIIE G LPEV O &

D) @y smatHHIb.

The major administrative challenges in a welfare state are

A) population growth and conditions of unemployment
B) soclal conflicts
C) environment poliution

T All of these.

SHIT WODID HT&T anrGleued. EhEurey e 6w ULSDEG (LPETT .ovierrieieeenns NG
g e mdlu ugdleermes Gmbee.

Ay dgresa B} QGuriéssec

C)  Aflcen D)  s@nflaer.

Dadra and Nagar Haveli. before being inilegrated with India. were enclaves of
A) France - Portugal

C) Britain D)  USA.

@bl sreem upHeyenyUledl LI 6 g)/6TaneL 2 GUOIEIHILITET GJfener ?

A) pluoaipssre -HlepCeplL (py g

B Q& opdlue sreer elLpdlen UGH @éveme e 2 GsBdloepd iUy
cupRIdliug)

C) Qe weon SEHssULLL g
D) @Eleeu SenerSHad.

Which of the following statements regarding the Preamble is/are correct ?

\4‘?\? It is not enforceable in the Court of Law

B)  The Supreme Court has ruled that it is not a part of the Constitution
C) It has been amended twice

D) All of these.
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2010-2011 gyeoger @ndlu OueaGurgst whod Ceemes ghmued) IT-BPO
ghpudlaw 2 st &dl adliuridaiu@Gn eeney, US Lrer ndlife shGnnéesnu

A} 70 Sévedlwen B) 59 déuedlwest
C) 40 SeveSlwen D) 62 Jévewen.

The Indian Sofiware and Services exports including 1IT-BPO exports estimated in
2010-2011 in US dollar is about

A) 70 billion | \'ﬂf’a\59 hillion

C) 40 billion D) 62 billion.

GSLV wré sduigdle QaasstiulL. QewubassGaneilae GHnI@ -

A) GSAT-2 B) EDUSAT

C) ISAT-4CR D) GSLV MEK-IIIL.

Identify the lalest satellite that was launched by GSLV.,

A} GSAT-2 B) EDUSAT
LSAT-4CR D} GSLY MEK-IILL

giges 2011 seflurigeop erdens Hpd  o@usHL @ @) meamaa L
pmbeasd) MW genadles sHEmnée@enu

A) 6500 B) 4200
C) 1500 D) 1000.

Private Sector contribution of hydropower till April. 2011 to power grid in MW is

about

A) 6500 B) 4200

Q/" 1500 D) 1000.

Grdurealsr Qumerey GiaT e e Hemem 2 (HeuTdH@SD BHlneeTd
A)  ISRO B)  Tata Power
C) Reliance Power D) BHEL.

The largest manufacturer of boilers in India is
A) ISRO B) Tata Power

C)  Reliance Power \pf~ BHEL.
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85.

86.

87.

Gl Leottl dleonn 20120 <y etorgéo euGurgy Glamesm T Uul L gl
A} seweufl 21. 2012 B)  Sgeufl 21, 2012
) wrrg 21, 2012 D) grsifen 21, 2012,
The Civil Service Day for 2012 was celebrated on

A) January 21, 2012 B) February 21. 2012
C) March 21, 2012 ’ w’-‘ April 21, 2012,
Quirg Bifeuns sElé LeTeoIT @ sal Hniellds (Ppéhelu (PeLITestT LTS 68 2 eTeTg ?
A} Gleuetlymey| 4eminé 17 emeu

Bl ur@erdy Sendsyamey

C)  dlieurs fidmpssd vhnk GoRST&HED g

D} @hdiu Gurg flieurs Hiyeusid.

Which is the nodal agency for Internatlional cooperation in the field of Public

Administration ? i
A) Ministry of External Affairs

B) Ministry of Defence

vfn Department of Administrative Reforms & Public Grievances

D) Indian Institute of Public Administration.

sroaGleaumsdlar Gurg Hifeursd wHnb Cueramanw wnwldlar ( CAPAM )
geneseowllib eThig 2 _eTerg) 2

A) UL 6uT B) Qeefeur

C)  euesorL_ b , D) yg Hédd.

i

The headquarters for Commonwealth Association for Public Administration and

Management { CAPAM ) is located at

\A)‘ Ottawa B} Geneva

88.

C} London . D)  New Delhi.
@resmLmd Hifeurs Eidbsshe el aasame uflhgiemyast ghaUUlL g ?
A) 1005 B) 105

C) 1051 D) 1251.
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How many recommendations of Second Administirative Reform Commission were

accepted ?

\A(r‘ 1005 B] 105

C) 1051 D) 1251,
@rem_mh glieurs FTdlmess @ 65 ANGHoEHaer sOFUNGSE 2
A) 15 B) 16

C) 22 1251,

D)*
How rmany reporls were presented by Second Administrative

Commission ?

Wil 15 B) 16
c) 22 D) 1251,
2 &G HLUTOHOM SeoHT&-2011 meoL Glubhn @b
A} By dlévadl B) aymhens
C) s D) urfem.

The World Philatelic Exhibition in 201 lwas conducted at

\Kd\‘ New Delhi B)  Shanghai

C) Singapore D)  Paris.
‘Bame @hdlwm ngmgﬁgﬁm HenanoW&HD @ymHe@EHILD
A) BITEOILIT & B} (LplbemLl
C) Q&G HET D)  geoolg. e,
The headquarters of the Coal India Limited is situated in
A) Dhanbad B}  Mumbai
\U!,ﬁ‘ Kolkata D) Chandigarh.
Umeaigr 6l eaend saiph pGaTa (pessmnieen % ewTs srastUubels
A) S wmeollur B)  evgmGumeudlwi
C)  BCemrevSiwrm D)  sLe Gopuriy.

The ultraviolet rays absorbing ozone molecules are largely present in
A) atmosphere stratosphere

C) mesosphere D) occean surface.

Reform
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93.

94.

95.

96.

@hdlw Clon flsetle enow Himeuesind Gurluus)

A) QDB & B) GQesremen
C) HIT&LL T D) eowgt.
The Central Institute of Indian languages is in

A) Hyderabad B) Chennat
C) Nagpur wMysore.
ThE QLeoong 6o gTTHTaLe QhHlurald Qarksliul g 2
A) 1953 B) 1959

C) 1966 D) 1972.

In which year was the Doordarshan stlarted in India ?

A) 1953 Mgsg

C) 1966 ) D) 1972

<
@rsbw surallere nidlen T Geveorgeul Wi 2
A) S, K. yelmirest smest B) dim. Queledst Urers
C) & pebong ends oyeert] D) . K. E. @evwmilé.
Who is not the member of Rajya Sabha ?
A) Sri. K. Rahman Khan B)  Sri Ravishankar Prasad

\a,(\ Sri Mohammad Hamid Ansari D)  Sri K. E. lsmail.

Ulereumeussieunniet  @hdu  eyyrisd  dlevewhnser  Qarifure @b

SEUMDTE0T §j/emer 7

L. géellar eruCaredifl —  Qlgeudouri’
1. eowgsf —  eusdlGuéar
1. ‘LJITI]“Q — amitlleGloedt .

G\eumhmyef :

A) [ i {io B) il (Ao

C) 1 wHryo LI D) 1, I whoub 111,

8a D)
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Which of the following is/arc incorrectly matched regarding "India Research
Stations” 7?

L. Dakshin Gangotri —  Svalbard
Il. Maitri —  Schumacher
11I.  Bhartt — Luar Semen.
Of these
A) ¢ ltalone B) I1 alone
C) Il and I D) . Il and IIL.
& péematoi_cuDmiet ehg wirbleus el gr Quandlendil L sdle CarsamiuL aldemen 2
A BoUTH B)  wsdu IGeen
C}) EDITIT & 6oTL_ D) Garenr.
Which of the following states is not included in Ulira Megapower project ?
A) Gujarat B) Madhya Pradesh
<) Jharkhand M(erala‘

Gihdluraleysien, sihe Godlu yraralneg oidluraldr fohs sgliyble aowb ed@n
aBa suprsIUL.L g 2
A) AL B)  &rillul

C) erdlghsr D) QasberdGur.

Which National Park in India is conferred with Best Asian Wetland Centre
award ?

A) Gir B) Corbett

C) Kaziranga Meoladeo.

ulgwéd I e uigud I 2 d Qurpdd, dCp Qar@asiulBerer @iluifsamend
Qereao @ efures aflen_sows Carhbla®

ul g e I uligwes IT
ugenwserd el erhsmeowid wirHleoki s e
a)  seTERTT 1. Gargenr
b)  Gu&aGurh 2. #ladlip
<) &g 3. LD T T Eisg (71T
d) sToyhHTH 4. ygsGadl.
Ghldpser :
a b c d
A) 1 2 3 4
B) 2 3 1 4
C) 3 4 1 2
3) 1 3 2 1
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Match List I with List II correctly and select your answer using the codes given

below :

( Greenfield Airports )

List I

a) Kannur

b) Pakyong

c) Shirdi

d) Karaikal

Codes :
a b
Vil 1 e
B) 2 3
C) 3 4
D) 1 3

I

2

2

1.

3.

List II
(States )

Kerala

Sikkim

Maharashtra

Puducherry.

100. @pglurallé ar@eafls ugLusrema Garan® Gnhgaflameslld aflems lu@sgy -

A)
B)
C)

D)

wiHSlw NgCaed, ymemmiad ByGaen, 6 HE\GvaNT, HTFTaEPQ T

Symemwirdgd Nrglen, abdldvar, wamyreygnm, wédlu SirCssn

weHu WT8aen, oymerrmiad NyGsen, baryreawgyr, &sdlaveat

SmesoiTésc LigBaen, usdlu UgGeean, & ddldvai, wamyreygrm.

Arrange the area under forest cover in India descending order :

)

B)
C)

D)

Madhya Pradesh, Arunachal Pradesh, Chattisgarh, Maharashtra

Arunachal Pradesh, Chattisgarh, Maharashtra, Madhya Pradesh

Madhya Pradesh. Arunachal Pradesh. Maharashtra. Chattisgarh

Arunachal Pradesh, Madhya Pradesh, Chattisgarh, Maharashtra.
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